PAST EXAMINATION QUESTIONS .-

1. Without using tables or calculators, write down the values of ‘ -

® (5) o Fo L2 @ (ﬁ—,/—)(zﬁ—,/’) SARLAL)

taking J_ fo be

2.  Find, without using tables or calculators, the valu§ Of‘/—?fj’z_' J_+ 7
1-414. (NS4/PlA/1u N54/P1B/1u) _
“in the form of a+ bJ_ (N58/P1A/11 NSS/PIB/h)

3. Express s J_ s ,/_
4, _ (i) Expressinits smplest surd form J 11 J—B +- %2_4—

i If ‘/_;ﬁ = F:/: find the values ofx (N60/P1A/11—11 N60/P1B/1i-ii)

?. Express ;J]_———JC— in the form a—b./c . (NGO/P2/611)

6. Express 7—_1/71/: Jl_‘[;_ in the formaﬁ +b,,/— (J62/P1/511)
v (J63/P2/511)

7. Without using tables or calculators, evaluate ( )
-5

1 ;

(l+1[—>

8.  Find the exact value of the expression ‘/;H '/1/:_ _(N64/P2/51)

2
9.  Using the fact that (,/E +Jy ) =x+y+2 ,/ (), or otherwise, determine the square root
of 5+ 24 without using tables or calculators. (N65/P1/8ii)

10. Express p:g in the form M +N ﬁ , where M and N are whole numberé.- (J66/P2/5ii)

11. Without using tables or calculators, evaluate .—— . J— +——- (368/P2/51)

4442, . -
12. Express - in the form p+ g, where p and g are integers. (782/P1/11c)

13. Without using tables or a calculator, find the value of —,/?3—_1 - —,/62: (I83/P2/11c).

14. The variable 6 and 7 are related by the equatlon 6 Boe™,
When #:230,6 = + 5 00. ’0
(i)  Sliow that the valuz of k, correct to 4
(i) Calculate the value of @,
When ¢ = 50, calculate
(iif) 8,
(iv)

* Find the average rate of chan

(N2000/P2/3b)

wherg 90 and k are constants. .

decimal places, is 0-0231. When ¢ = 40, § = 28

ge of 8 with respect to  over the interval 0 = 7 < 50

Given that (a + /5 )(3 + b /5
(NO1/P2/8a)

15. 11,5
)=26+11/5, find the possible values of g and of b.

A rectangle has sides of length (2 +

a+b.J2,where a and b are integers,
i

¢! ) the value of A, where Asquare metres is the area of the rectangle,

418 ) m -— 4
) metres and-(S 7 ) metres. Express, in the form

Gi
iven that k = —=- J" and thatp

@® »p @ p-3%
(N2002/P2/3)

1 k , EXpress in its sunplest surd form

b

15.
16.

17.

.3

s
15 N
TT5Y3

) 1T

(i) +2

(V2 + /3)
5+2J7

3

(& 00231

(correct to 4 dec
() 705
(e 222
(d) i:g — 1-63g0081
a=2,b=4;a=6% p=1-
D Ad=-z+11/2 ’
(i) D*=55-8/7
@H 2+/3
@) 23




